
609-2　小6 ＳＳ角柱と円柱の体積
－1－

Ｐ．1 復習 NO.1

1 ① [式] 3×5＝15 答え ( 15cm2 ) ② [式] 4×4＝16 答え ( 16cm2 )

2 ① 答え ( 24m2 ) ② 答え ( 25m2 ) ③ 答え ( 48km2 )

④ 答え ( 49km2 )

Ｐ．2 復習 NO.2

1 ① 答え ( 15cm2 ) ② 答え ( 15cm2 ) ③ 答え ( 28cm2 )

④ 答え ( 22.5cm2 ) ⑤ 答え ( 28.26cm2 ) ⑥ 答え ( 36cm2 )

Ｐ．3 復習 NO.3

1 (1) ① ( ) ② ( ○ ) (2) ① ( ○ ) ② ( )

Ｐ．4 復習 NO.4

1 ① ( 1cm3 ) ② ( 1cm3 ) ③ ( 1cm3 ) ④ ( 1cm3 )

⑤ ( 1.5cm3 )

Ｐ．5 復習 NO.5

1 ( 8 )

( 3 )

2 4 3 24

( 24 )

Ｐ．6 復習 NO.6

1 ( 9 )

( 3 )

3 3 3 27

( 27 )
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Ｐ．7 復習 NO.7

1 ① [式] 5×4×3＝60 答え ( 60cm3 )

② [式] 5×5×5＝125 答え ( 125cm3 )

③ [式] 4×6×2＝48 答え ( 48cm3 )

④ [式] 4×5×2＝40 答え ( 40cm3 )

⑤ [式] 5×5×3＝75 答え ( 75cm3 )

⑥ [式] 10×10×10＝1000 答え ( 1000cm3 )

Ｐ．8 復習 NO.8

1 ① [式] 30×30×30＝27000 答え ( 27000cm3 )

② [式] 200×50×30＝300000 答え ( 300000cm3 )

③ [式] 60×40×20＝48000 答え ( 48000cm3 )

④ [式] 100×90×50＝450000 答え ( 450000cm3 )

⑤ [式] 300×40×60＝720000 答え ( 720000cm3 )

⑥ [式] 400×90×80＝2880000 答え ( 2880000cm3 )
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Ｐ．9 復習 NO.9

1 ① ( 1000 )

( 1000 )

② ( 10 ) ( 100 )

③ ( 1000 ) ( 1000 )

( 1 )

④ ( 100 )

⑤ ( 100 ) ( 100 ) ( 100 ) ( 1000000 )

( 1000000 )

2 ① ( 1000cm
3 ) ② ( 100cm3 )

③ ( 1cm3 ) ④ ( 1000000cm3 )

⑤ ( 1Ｌ ) ⑥ ( 1dＬ )

⑦ ( 1mＬ ) ⑧ ( 500cm3 )

⑨ ( 2000cm3 ) ⑩ ( 3dＬ )

⑪ ( 6Ｌ ) ⑫ ( 7000000cm3 )

Ｐ．11 角柱の体積 NO.1

1 縦 横 高さ

底面

高さ

2 横 高さ

横 高さ 2

底面積

60
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Ｐ．12 角柱の体積 NO.2

1 ① [式] 68×6＝408 答え ( 408cm3 )

② [式] 32×7＝224 答え ( 224cm3 )

2 ① [式] 6×4÷2×5＝60 答え ( 60cm3 )

② [式] 7×5÷2×8＝140 答え ( 140cm3 )

③ [式] 6×4÷2×9＝108 答え ( 108cm3 )

④ [式] (6＋8)×5÷2×10＝350 答え ( 350cm3 )

Ｐ．13 角柱の体積 NO.3

1 ① [式] 60×10＝600 答え ( 600cm3 )

② [式] 14×7＝98 答え ( 98cm3 )

2 ① [式] 3×3×3＝27 答え ( 27cm3 )

② [式] 4×4÷2×6＝48 答え ( 48cm3 )

3 ① [式] 8×4÷2＋8×3÷2＝28，　　28×6＝168 答え ( 168cm3 )

② [式] (6＋4)×7÷2×8＝280 答え ( 280cm3 )

Ｐ．14 円柱の体積 NO.1

1 3 3 3.14 28.26

底面積 高さ

3 3 3.14 7 197.82

197.82

2 ① [式] 5×5×3.14×4＝314 答え ( 314cm
3 )

② [式] 5×5×3.14×6＝471 答え ( 471cm3 )
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Ｐ．15 円柱の体積 NO.2

1 ① [式] 3×3×3.14×9＝254.34 答え ( 254.34cm3 )

② [式] 6×6×3.14×9＝1017.36 答え ( 1017.36cm3 )

2 ① [式] 5×5×3.14×10＝785 答え ( 785cm3 )

② [式] 2×2×3.14×8＝100.48 答え ( 100.48cm3 )

3 ① [式] 4×4×3.14÷2×6＝150.72 答え ( 150.72cm3 )

② [式] 2×2×3.14÷4×3＝9.42 答え ( 9.42cm3 )

【まとめの問題】　第1回　(1/3)

1 底面

平行

底面積

底面積

2 ① [式] 15×5＝75 答え ( 75cm
3 )

② [式] 12.56×6＝75.36 答え ( 75.36cm3 )

【まとめの問題】　第1回　(2/3)

3 ① [式] 6×8×10＝480 答え ( 480cm3 )

② [式] 12×3÷2×9＝162 答え ( 162cm3 )

4 ① [式] 6×6×3.14×12＝1356.48 答え ( 1356.48cm3 )

② [式] 3×3×3.14×15＝423.9 答え ( 423.9cm3 )

5 ① [式] 7×4×8＝224 答え ( 224cm3 )

② [式] 3×4÷2×8＝48 答え ( 48cm3 )
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【まとめの問題】　第1回　(3/3)

6 ① [式] (6＋3)×4÷2×4＝72 答え ( 72cm3 )

② [式] 4×3÷2×12＝72 答え ( 72cm3 )

7 ① [式] 12×5÷2＋12×8÷2＝78，　　78×10＝780 答え ( 780cm3 )

② [式] (2＋4)×7÷2×5＝105 答え ( 105cm3 )

8 ① [式] 10×10×3.14÷2×15＝2355 答え ( 2355cm3 )

② [式] 4×4×3.14÷4×7＝87.92 答え ( 87.92cm3 )
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